SPACE FOR ROUGH WORK / =2 19 ¥ ff 57

1202154033

1202154033

3

)
)

4 () 3

|
~

12021

mmﬁéqﬁﬁ%—uyuﬁﬁ@vqﬁ,mmwmwmﬁaqjmzﬁ
I A o S Ui v w1 HIoH, it v T v @ srem w6 @ | dwe g
I WA F YA Ul A U W, ol vl w ge @ we wa @ e ww
Wﬁmmwﬁmﬁﬁ@ﬁ | wligreft faefta ufe @1 s g o s

098] <

™ Page 16

q/&)é‘qﬂ/ YN OE) HYUSH CQQ@ Ccmew(@ |
(MBS U7
99 Rt / QUESTION BOOKLET

i

qficreht ¥ gsai &t €@ / Number of Pages in Booklet : 16

gt # Wl T H@A / Number of Questions in Booklet : 100

99 / Time : 2.00 =2 / Hours

qoTieh / Maximum Marks : 200

120B

1202154033

W i wHiw
Question Booklet Number

INSTRUCTIONS
1.

Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will themself be responsible for filling wrong
Roll No. . - :

. At the start of the examination before attempting the

question paper kindly check your test booklet and OMR
Answer Sheet and ensure that :

The serial numbers of test booklet and OMR answer
sheet are same. ;

All pages of test booklet and OMR answer sheet are
properly printed. All questions from S.No. 1 to last S.No.
100 are printed and pages from S.No. 1 to last S. No. 16
are there ‘in the question booklet.

In case of any discrepancy / defect the candidate should
immediately report the matter to the invigilator for
replacement of test booklet and OMR answer sheet. No
claim / objection in this regard will be entertained after five
minutes of start of examination. Candidate will be liable for

it.

3.

4
5.
6.

~N

1

Warning : If a candidate is found copying or if

. 1/3 part of the mar

o

Answer all questions.

. All questions carry equal marks.

Only one answer is to be given for each question.
If more than one answers are marked, it would be treated
as wrong answer.

. Each question has four alternative responses marked

serially as (A), (B), (C), (D). You have to darken only
one circle or bubble indicating the correct answer on the
Answer. Sheet using BLUE BALL POINT PEN.

i(s) of each question will be deducted
for each wrong answer. (A ‘wrong answer means an
incorrect answer or more than one answers for any
question). ;

. Use of Mobile Phone/Bluetooth Devices or any other

electronic gadget in the examination hall is strictly
prohibited. If any such prohibited material found with
any candidate, strict action will be taken against him/
her as per rule.

. If there is any sort of ambiguity/mistake either of printing

or factual nature in Hindi and English Version of the
question, the English Version will be treated as standard.
any

unauthorized material is found in his/her possession, FLR.
would be lodged against him/her in the Police Station and
he/she would liable to be prosecuted under Section 3 of the
State Prevention of Unfair means Act, 1992 and Board
Regulations, Board may also debar him/her permanently
from all future examination of the Board.
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A source emits a sound of uency of . b 2ogs ;
400 LTz birt -the ‘obssrver hef::sq it to) be | 4  The relation between binding energy (E,,)
390 Hz. It is because - 9 L
(A) The observer is moving towards the and mass defect (A M) is given by -
source. A
(B) The source is moving towards the q = (Eb) 3 s &ty (A M)
observer. FAT TR —
(C) The observer is moving away from the
source. — AAR2 el 2
(D) The observer has a defective ear. @) & =aMc ®) E 2 Sl
% @ 400 w9 & FEK S EN Swn )
HAT &, A YEw 39 390 T NwE 1
g el © E,=(aMc)’ @) E,=(zaMe
(A) Y& Eia & ST g ST & T
(B) €9 ¥&& & AT Mo ST T& £ . il :
(€) &% 8@ ¥ W = @ B S  Radii of nuclei is proportional to -
(D) Yo% & T AT 2 s B T FEE € -
Gauss law states that electric flux through a (A) £ ®) A
closed surface S is equal to - 2/3 34
Tow Fra Fea ¢ el 7% 7% S T a0 © 4% ®) 4/
A T IUST Bl & —
5 6 A rectifier is used to -
q q
(A) g (B) g (A) convert ac to dc
(B) convert dc to ac
e GO - e
© =01 ® —= (C) convert ](fw voltage to high voltage
q q (D) convert high voltage to low voltage
When g is the total charge enclosed by S and % RewER &1 SuEn & —
oSG ety of e Speoc (A) aca de ¥ i wem
W& g Y% S B WREE g A& ¥ &N €, (B) dc &l ac ¥ uftafda &
IR o it fgadi €1 (C) T divean & =4 dieear # URaEfia &
Two charges of equal magnitudes and at a (D) e dieeat i i ez ¥ ufafi we
distance r exert a force F on each other. If
the charges are halved and distance between
them is doubled, then the new force acting | 7 -)
B o e s - Angular momentum ( J) is -
A FHH 9T & S 7 g 9T Us gEt W F
a T ¥ % o 3t o o A A gr | A wam (7) & -
mﬁmw&aﬁaﬁsﬁ%mwnﬁvﬂ—
E 2 o - -
A) ? | ®) 7 (A) rxF B) rxp
FE
C Pt -2
()b (D) 16 (C) axF (D) jx;
Page 2 of 16
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Moment ;)f ir}ertia ofa s?)lid sphere about its | 12 In Young's d;)uble slit experiment, for which
tangential axis is given by - colour the fringe width is minimum?
frd ot M &, s wsitdm awm % e '
TE o B & (A) Red (B) Green
e (C) Violet (D) Yellow
G ® mr? o o e sl o 473 o B
%l HIT
©) %MRz o) MRZ e B
(A) @ (B) ®T
In which of the following, controlled chain (C) & (D) e
reaction occurs?
bindi :
Eg; gﬁzizz b:)nm;)n sty 13 Angle between plane of polarization and
(C) nuclear reactor plane of vibration of po]arized light is -
(D) p-p cycle WHII % B a9 AU a & G BT
o % 8 o 4 P e o |y =
;TP
(A) T ST oot (a) 0° (®) 90°
(B) wtwe@ §9 » (C) 180° (D) 145°
(C) =i fraaex
©) ppsE 14 A person using a lens as a simple microscope
In the breakdown region, a zener diode Sees an -
behave like a - (A) inverted virtual image
(A) constant current source p 2 .
(B) constant inductance (®) mvc'arted real magmﬁ'ed m?age
(C) constant resistance (C) upright virtual magnified image
(D) constant voltage source (D) upright real magnified image
o & SIS &I HGER & — {
(A)ﬁuawqr::ﬁ? 2 ¢ T AR Th ad & SR gEEes &l ate
®) e Raa WW%,@W%‘“—
(C) Fraa wiy (A) Sw1 SRR S
(D) frram ezt i (B) I AR sraffa i
Consider two liquids A and B such that A (C) Wrar Rl e Wi
has half the surface tension and twice the " (D) W IR SRl SRR
density of B. If liquid A rises to a height of 3
2.0 cm in a capillary, what will be the height
to which liquid B will rise in the same | 15 Total energy of an oscillator will be -
capillary? A i
AT A9 B W IR & 6 B A &1 I8 SUgNE
e T U AT & | A 7 A St T ¥ 2.0 . i 2 L5
cm $9TE 7% 96 S ¥ A GHE S T A (B)55 maa Bl a0d
7a B ferl HETE d@ =9 7 ' 3 : e
(A) 0.06 m (B) 0.02 m v 13 2 ¥ 3 w2a?
(C) 0.08 m (D) 0.04 m (Ot (UB)), oy
[ Contd...
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16 A girl is swinging in the sitting position. How | 19 Lyman series of hydrogen atom lies in which
will the period of the swing change if she region?

stands up? frared i
(A) Time period will increase. QA) < UL
(B) Time period will remain unchanged. CXC) Visible (D)' Microwave
(C) Time period will decrease. T B aewa oo few & ¥ e
(D) Time period will become double. U§ 5
TH TEH T § o7 ¥ (@ Tl R T wq@ ' S
B, 7 S o T R | YA S (B T T
#rm? oo (D) wrEHET
(A) Sade™ S SR —

(B) STad@W SUiEfia e s A )
(©) ardoR T B SR 2 S;?eed of a longitudinal wave in an ideal gas
(D) SEdHE ST & SR o gy
. Meest f9 § o a0 @t 9@ e —
17 Two simple harmonic motions are -
represented by the equations N
o, ®
» =0-1sin(100m+§) and :
0 ¥, ®
Y, =0-1cos . The phase difference of o & ) p
the velocity of particle 1 with respect to : i i
o Y o T—‘tWhere p is density and p is pressure of
A WA A A P w2 awE e
) ((:)Xaﬁpmqépﬁamm%)
: (&)
y =o-1sm(100m+£)- .

1 3 EIn ZI‘VEnergy is not propagated by- which of the
Y, =0-1cosmt & 1 & a7 &1 BT BT ﬁoﬂowing P’ .
T e o fA) Stationary waves
£ ‘ 1 CXB) Progressive waves

3 B) 3 C) Transverse waves
© - _g_ ©) % (D) Electromagnetic waves
O E @ @ @ A et @ e T

18 Minimum energy required to free the electron ('V"m 4

from the ground state of hydrogen atom is - q(A) Tl

TR T B P oren & SR @ | LO(B) g v

T &I % o0 Sasas w2 ™ .

(A) 14.6 eV (B) 10.2 eV N ) e

(C) 113 eV D) 13.6 eV CAD) faga grdig ay
098 £
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In Carnot engine, the temperature pfsink is

22 25 Null point with 1V cell comes out to be
27°C and that of source is 32?‘)C its 55 cm and with R=10 it is 50 cm. What
;ﬁ; g;yﬁ.lém A 1 A 3270&* o Rz is the internal resistance of the cell?
FI TUAE 27°C ¥1 39§99 B aEall): 1V & & g fadw 55 30 o o & ST 39%
' 27 300 = T 10 Q Wi sieT 9T 50 i X o ¥
@) 527 ®) 337 g I &1 o WA = E 7
1 ' 3 -
C) = { = - N
© .3 2 TR 8 2
23l The P-T relation for an adlabatlc expansion ST (0 e L
is given by : " W A
. | :
(A) -g—= constant ™ |
(B) PTY = constant _ <! SNAAA

: 9 R-
© PYTY = constant = y
(D) P'7'TY = constant o A) 05Q B) 04Q
z@wm%mP-TmﬂmmN: © 19 ©) 029

P : \ d : 3
(&) 7= Ratiw S i1 .

: . ; : 26 Using Kirchoff's rules, determine the value
B) LRLS /| of unknown resistance R in the circuit shown
(©) P'TYY = fertim g in the figure so that no current flows through
D) PITY = Reisp = 4Q resistance. The unknown resistance R

: < is -

' L0 : mw % fra & & § 94 g S W
" 24 The Kirchoff's first law gnd secon4.l4w are Rﬁrﬂﬁ,mﬁ'ﬁﬁ 40 % wRra &
- respectively based on - N :

(A) conservation of momrentum, yaea e Bl ¥ 1 S g R ¥ —

conservation. of charge N ;

(B) conservation of cha.tge, conseryation of |*

energy ,

(€) ‘conservation of charge, conservation of

momentum M

(D) conservation of energy, consetvation of

charge ()

fntan @1 wem frem @ fada Fraw s
s - o

(A) FaT HTEw, S s ﬁ 4R S
(B) ST WY&, FHel g WL N A) 20 6Q

(C) SIS HIE, FAT HIEHT 9T g @A) ®) g

(D) it WY&, ST HHT W ©) 3Q - D) 15Q

098 ] =F Page 5 of 16 ' [ Contd...




.27 According to Bohr theory, the angular

28

29
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'Wmﬁmuﬁqmﬂ%—

» -2

momentum of an electron revolving in the
third orbit of hydrogen atom will be -

IR % Rraid & U TRsIeE T B ded
B 7 TR HA U AR BT DI FJT
AT —

(A) 3mh B) e

3 3h
© = © 3%

During a nuclear fusion reaction -

(A) A heavy nucleus breaks into two
fragments by itself.

(B) A light nucleus breaks up due to
bombardment of thermal neutrons.

30 In ameter bridge if balance point is obtained

(C) A heavy nucleus breaks up due to
bombardment of thermal neutrons.

(D) Two light nuclei combine to give a
heavier nucleus and possibly other
products.

ke Heaw gkear & —

(A) & Wit T oo a9 & zwet F fywew
Ea B

(B) Toig =z @ zeat ¥ TH woHl ARG
22 2

©) s Wl 7 Tsii =2 & 2907 @
eI

(D) 3 Twh e T TgE et TH =H
ke 3R o wer & E

A charge ¢ is placed at the centre of the line
Joining two equal positive charges (. The
system of the three charges will be in
equilibrium, if g is equal to -

aﬁaﬁsﬁ+gﬁﬁaﬁm%@%wﬁgw
T A9 g 7@ T ¥ | 98 S Eei @1 P

® -2

© +2 ®) +2

31

32
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at ¢ cm from the zero end then unknown
resistance (X) is given by -

WX ¥y ¥ ok 9 Rg R @ o ah )
W W W o E, @ o why € € -

@ x=(=Yr

+[)R

® x=(2

=

© X=(

lOO[—C)
)

®) X=(1oo+

~
=

Which of the following plant parts in garlic -

and onion are edible?

(A) Fleshy scale leaves
(B) Underground stem
(C) Tunic

(D) Adventitious roots
TEET 9 9 & P URY H9E X ¥ #9 @n
arg ¥ 7 »
(A) #iga 9o aRwr

(B) HfFE T

©) =g

(D) sruEe S

The cells that do not divide further exit G,
phase to enter an inactive stage called -
(A) Leptotene

(B) M-Phase

(©) Quiescent stage (Gy)

(D) Zygotene

BT A ot e 781 A # G, oreeen @
Freraat il orewen # wiedh & R i
b B T Hed ¥

(A) dFuee (frerdm)

(B) w7 — e

(C) smia eraen (G,)

(D) gmuzz (i)

[ Contd..,

33 The walls of sclerenchyma cells is made 37 ?g)rol;:‘stfrium cause:(sB e disease.
TR —_ (C) Blight (D) Crown Gall
(A) Cellulose (B) Hem.lcgllu ose S
(C) Lignin (D) Pectin (AZE )i i_(_ei ; = ®) @z
Tar® Hmbia @ wifr fifa feed & (C) =z (sl (D) FA T
B 7
(A) @ (B) e 38 A leaf like covering that protects the plumule
ferfrer A is called -
© S (A) Coleorhiza (B) Coleoptile
: (C) Scutellum (D) Aleurone ;
34 can remove over 99 percent T T S ST B G T -
particulate matter present in the exhaust from (A) FFigTam (B) Wi
a thermal power plant. (C) e (D) TR
" (A) Light Precipitator ' ’
(B) Magnetic Precipitator 39 The terminal buds of ‘tea plant’ are called
-(C). Thermal Precipita‘to_r as A Tt
(D) Electrostatic Prem'pxtator 3 o 5‘8 &:eng}s)s g; ot fips
oo hae G Y s BRI a F ¥ -
st wReE qardl BT g Fehdl &1 G i ®) weh B
(A) vepeia SEanE ' (C) = fem (D) gl |
B) geE STaas ;
A EC; i STaae 40 Reserpine, a drug, is extracted from -
A) Papaver somniferum
o) e gy EB)) Rauwolfia serpentina
. (C) Colchicum autumnale
35 s known as ‘King of Spices’. (D) Withania somnifera
: (A) Black pepper (B) Saffron A aiefr w B -
(C) Capsicum (D) Clove (A) R A &
“qHTel B AT e ¢ (B) I@dIeHIaT a¥u=a g -
(A) e fired (B) ¥ © #ﬁ?ﬂaﬂzﬁ#g
(C) werr Pt D) T (D) fatram (-ﬂ’i‘ﬁ%. LG
3 ' : 41 - ‘Golden rice’ developed through transgene
36 Botanical name of pearl millet is - approach is enriched with -
(A) Sorghum bicolor (A) high lysine content
(B) Hordeum vulgare (B) h@gh methic.mine content
(C) Pennicetum typhoides © h{gh g!utem conteilt S
(D) Setaria italica (D) high v1tam1q»A conc:;{ulf W
AL DT AERTD TH & — et fafer g fsiia
e e qftget Ear & - ;
®) (A) WREN @ I HqET H
(B) s, am (B) AN B Io 7 A
(C) ffieT TEwRET (C) ~RFF & 3= 7B
(D) Refar st (D) i A @ 5= 7B &
098 ] qF Page 7 of 16 [ Contd...




42 Edible roots are found in -

43

44

45
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A) Kk (B) Potato

(C) Ginger (D) Sweet Potato
T A T e ¥ - |

(A) =@Ey (B) oy ¥

(©) a(a-\]zbs ki (D) y&Es ¥

Toxing\ produce by crylidb and cryldb
respecpxply controls -

(A) tobacco budworms and nematodes.
(B) cotton ballworm and corn borer.

(C) nenfatodes and tobacco. budworms.
(D) cdrf)borer and cotton ballworm.

" BRIABRRT FEI4b 0 Sig fay 5o 5 &

ST HHI: FA T —

(A) Tag Fivw B SR T3 B

(B) YN & TMed S B IR TawT B3 B
(C) T iR Targ Fierwr B =11
(D) qﬁﬂmaﬁrmmm@ﬁaﬂl

is the chief pigment associated

with photosynthesis.
(A) Ghiyrophyll - a
(B) Ghlérophyll - b
© Cﬁarophyll -C
©) CHlidrophyll - d

— ot 4

og— TP WRIT B GEA i ¥
(A) T - a
(B) FWifed - b
(C) FdfEw - ¢
(D) Frfee - d

o)

The d fungi is called -
(A) icolous  (B) Coprophilous
(©) Liggicolous (D) Fungicolous
MY G S ATl H9% @ FEd £ —
(A) e (B) HHAHETE
© Redpms  ©) Wi
=

46 Find the correct sequence of structures,

47

48

Page 8 of 16

moving from outer to inner area of human

eye.

(A) Cornea — Iris — Vitreous chamber —
Lens

(B) Comea — Iris —> Lens — Vitrgous
chamber <

(C) Pupil > Cornea — Iris — Vitreous
chamber

. (D) Iris — Vitreous chamber — Lens —

Pupil
ﬁwm@ﬁma@mw%mwﬁaﬁ
EU I 5 e o S g p s as o
(A) =iEr - IERE - FEW 959 —
(B) @aT - AERE —> T - HEW g9

@
(©) G — Hitar — FERE —> B ga-

HE
D) HEE — BEM F9-58 — T4 —> G

Which structure is found in the ear of human?
(A) Organ of Bojanus

(B) Organ of Corti

(C) Corpora restiformis ’

(D) Corpora quadrigemina

A H H B A G B 7

(A) dSHH @1 &

(B) @it @1 a7

(C) =ruRT g

(D) T Fargif

The confirmatory test for typhoid fever is-
(A) ELISA

(B) Western Blot

(C) Widal Test

(D) Complete Blood Count (CBC)

TEHIEE T A Y g whem @ @) i &7
(A) ELISA

(B) @ =itz
(C). fa=m qhigor
(D) 7 & M (CBC)

[ Contd...

49 Animals with spicules and canal system are.| 54
placed in phylum {A) Liver (B) Lymphocytes
(A) Coelenterata (B) Porifera £4C) Erythrocytes (D) Monocytes
(C) Mollusca (D) Annelida Sty thad T Y
m&wqqamaagwwhﬁmwﬁr@ m(A)‘@?f ®) Rz
™ E 7 ] of (D)
A) G (B) T N( ) SIS R RIS
© , (D) 5 = 55(\]W1uch of the following pair is not' correctly
' = 2 tched?
50 Which type of RNA is responsible for reading ‘_’(I:)c Pelatyhelmmthes T
the genetic code? ; i
Freifed & § @ o AR (B) Nemathelminthes - Pseudocoelomate
1 mﬂ;{?@q s ()C) Annelida - Schizocoelomate
i e ) Arthropoda - Enterocoelomate
(A) tRNA - (B) mRNA g i,
(C) RNA - (D) hoRNA g™ gafe
LCEA) R — S
51 Whlch class of vertebrates have preen glands? —(B) Prizfeiede — FERE ¢
A Amphlbla (B) Rep’uha %) T — W
(C) Aves (D) - Mammalia i 5
mmﬁmaﬁﬁmﬁmmm%? gD)
() IR ®)s AR 56 r+Gastr1c glands of stomach secrete -
Q) s © S (A) Mucus, Pepsinogen, Trypsin
52 Darwin's finches are famous for variation in g%g ;‘ESiI;‘;i:Z T’;‘Zyp::l; Lipase
structure of their body - gD) i Pepsmogen,
Eg .5;11; SIS B STeT Akt afed Bl € -
(C). Body colour | —(A) s, e, R
(D) Shape of tail feathers - L C\B) e, . faftee, a=ast
- ReRE o R @y feE wXE @t 20) HCL @, e
s 2 R e ) s, HCL, 3o
- (A) =i : .
kg 57 _The smallest functional unit of contraction
(©) sl 3 ; jated muscle is -
(D) g first 1 FA A) Fasciculus  (B) Muscle fibre
: : : <{C) Muscle fibril (D) Sarcomere
. . e hl h ‘
53 Pellagra is caused by the deficiency of whic! L Ree A 3 & g B fraE
vitamin? ; 3 ;
; o e : - :
Qﬁmmﬁaﬁﬁﬁwﬁﬁﬁw%? Ny s o - ® ﬁs?ta—-g'
(A) Vit B, (B) Vit By feraat _
(C) VitC (D) Vit B, O i aﬂas (D) HrpHET .
‘.0I98 ] 4 ' Page 9.0f 16 1_| ' [ Contd...

nunoglobulins are produced by -




58 Match the pathogen in column-I with disease

59

098] 4=

in column-II and choose the correct answer:

Column-I Column-II

(@) Leishmania i. Malaria
donovani

(b) Wuchererig - ii. Amoebiasis
bancrofti

(¢) Trypanosoma iii. Kala azar
gambiense

(d) Plasmodium iv. Sleeping
vivax sickness

v.  Filariasis

-1 ¥ & Ty & w1 R O R A
HIA ZY TE I BT TG DI
w-1 -1
(a) ety sHEEr i wenE
(b) RN FHEEET i SEiEERE
(o) Ruvigmr =it 1. el SR
(d) wTIEyT GEERE iv.  FEwE O
V. R

(A) (@-iv, (b)-v, (c)-iii, (d)-i
(B) (@)-iii, (b)-v. (c)-iv, (d)-
(©) (@i, (b)-iv, (c)-iii, (d)-
(D) (@i (b)-iv, (c)-v, (d)-ii

Synthesis of urea occurs in which part of
human body?

(A) Cortex of kidney

(B) Medulla of kidney

(C) Liver

(D) Urinary bladder

AT SR & e 9T § i a1 ggero
BT &7

(A) 95 &1 aTHE

(B) g @1 HeAIST

(©) FFd

(D) T

60 Which hormone is synthesised and-released

61

62
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by the Leydig cells?

(A) Aldosterone

(B) Androgen

(C) Follicle Stimulating Hormone
(D) Estrogen

BN W EEA AR HINGR T HRRT qur
ey g &7

A) TERIA

(B) TR

(C) giew STwid TWH

(D) TRH

The atomic number of an element is 11. Its
oxide will be -

(A) Acidic (B) Basic

(C) Amphoteric (D) Neutral

T& O @ TN HAG 11 8, THa SHdEs
ﬁ’T[ -~

(A) =g B) &t
(C) swa=H D) SeEEH
In the reaction

Az(g) +2 B2 &) =2 AB2 (&) + heat, the

equilibrium is shifted to the left, on -

(A) decreasing the pressure and increasing
the temperature.

(B) decreasing the pressure and decreasing
the temperature.

(C) increasing the pressure and increasing
the témperature.

(D) increasing the pressure and decreasing
the temperature.

39 e &
AZ(g) == 2 B2 (g) = 2 AB2 (g) + heat,

AT A % R 6 e -
(A) @@ =M it A qer gt
(B) =@ WM &ft q Her wt
(©) 7 %3 et 9 w73 wx
(D) =@ 9gr &it am Fem T
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64

65

" (C) B=A’x—

66

098 ] =F

-(©) 20

In the reaction of chlorine gas with hot and
concentrated sodium hydroxide, the oxidation
number of chlorine changes from -

(A) 0 to +1 and 0 to +5

(B) 0to~1and 0 to +5

(C) 0to-1 and 0 to -5

(D) 0 to +1 and 0 to -5

| I T @ el wr AifEEm TEgeEEs &

1Y STRRRAT HT T FAIE bl AT o1 HEAT
gRafia it & —
(A) 0F +1 qan 0 & +5

" B) 0¥ -17a0F+5

(© 0A-17qm0d -5
D) 0F +1 qar 0 & -5

Total number of orbitals in‘4th shell would

be -

4‘hﬁﬂﬁgﬁf$&1ﬁaﬁm@7ﬁ—
A) 9 ®) 16
(D) 32

If A is normality and B is molarity then
correct relationship between normality and
molarity is - :

(M and E are molecular weight and
equivalent weight respectively) . .

afy A Fiidar @ B Riawar % TE A o HA
FEh -

(M 9 E %¥31: ¥R 9 gedial ¥ 8)

M

(A) A=BxX  (®) A=Bx

M-
M

E (D) B=AXMXE

Gas equation PV = nRT is obeyed by -

(A) Only isothermal process

(B) Only adiabatic process

(C) Both (A) and (B)

(D) None of these

g gl PV = nRTW@rgaWMﬁm%—
(A) Haw FHAME WHA A

(B) %aW &SI WA H

(C) (A) 3T (B) It

(D) T q &g T

67

68

69 .

70
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The strongest conjugate base is -

a9 vad GG AW & —
(A) NO; (B) CI”
€ SO;” (D) CH,COO™

Which of the following has the maximum

viscosity?

(A) Water (B) Glycol
(C) Acetone (D) Ethanol
/1 & ¥ gaifas @ g &7
(A) =@ (B) B
(©) udrRH (D) Tari

In wh,ich one of the following, geometrical
isomerism is not possible?

Frafafaa & & feed s gEEEeEd G5
TE &7

(A) H  CH
G
me” NH

(B) H .. CH;

\C=C/
H.G AN
© o, CH
e rc=¢
w7 N

(OFERG  AYES

a”’  Ncn

The reagent used to convert an alkyne to
alkene is -

TehIEe I ThlF & URERid S o 0g & aﬁ
e SRS & —

(A) Zn/HCI (B) - Sn/HCl

(C) Zn-HgHCl (D) Pd/H,

[ Contd...
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71 How many structural isomers doememane

have? ™
T & GEAE GEETAE B GED —
(A) 3 ®) 4 Lf;
© 2 D) 5 =
‘N
72 Which of the following alcohol is fertiary in
nature? N
Frefn & & # & e gdEE
BT E?
H ™M
| M
(A) R— ? —OH o
H Ty}
N
'T o
(B) R—C—OH N
| —
H
™M
1[1 ™M
(C) R—C—OH =
| <t
R )
—
N
R o
| N
(D) R—CH,—C-OH —
]
H
™
48]
o
73  Which of the following molecularsformula
represents an alkyne? L
Pt & & 1 1 onfva g Uvemrea @i aatar & 7
(A) A CsHy, (B) CsHj, o
098 ] <=

S PagoiZlor16

74 The Aufbau principle implies that a new
electron will enter an orbital for which -
(A) n has a lower value
(B)  has a lower value
(C) (n+ () value is maximum
(D) (n+ () value is minimum
FTHaTS PN 1 R 39 HEdh § JaT
om e fig -

(A) n & FW HH W
(B) & 9N &9 &R
(C) (n+ £) & 9 SAHaw T

(D) (n+ ¢) F qE JAH AW

75 The solubility of Agl in Nal solution is less

than that in pure water because -

(A) Agl forms complex with Nal*

(B) Because of common ion effect

(C) Solubility product of Agl is.less than
that of Nal

(D) The temperature of the solution
decreases ; :

AglaﬁﬁﬁwNaIﬁmﬁ',sg@W@fﬁ%
it —

(A) Agl, Nal & &9 Hge 9w &1

(B) &9 AT WU BT 2|

(C) Agl &1 faeraar TvMea Nal & e
THEA § FH 2

(D) foe@T &1 9 g ¢

76 It is easier to liquefy oxygen than hydrogen
because - ;
(A) oxygen has a higher critical temperature
and lower inversion temperature.
(B) oxyen has a lower critical temperature
and a higher inversion temperature.
(C) oxygen has a higher critical temperature
and a higher inversion temperature.
(D) oxygen has a lower critical temperature
and a lower inversion temperature.

miﬁmmﬂmmaﬁﬁamm
(A) g@;ﬁmmmmmwm
(B) mmmmmmwm
© wwmmweﬂ?wm
(D) ﬁﬂfzﬂg’fmmﬁmmﬁnaﬁwwm

[ Contd...

"77 A certain metal crystallises in a simple cubic
structure, At a certain temperature, it arranges
to give a body centred structure. In this
transition, the density of the metal -

(A) decreases.
(B) increases.

§ (C) remain unchanged. .

(D) changes without a definite pattern.

T fa9y Ty e T g ¥ e #d

2| fafyed a9 X 7% FERed 6T HE Hiwd

T 3 31 39 GHAY A oTg @1 g —

(A) Hea ®l

1 (B) & 3

(C) emfeafia wwar 31
(D) fifEe Yot & famr S 2

78  Which of the following solutions‘ would have
the highest osmotic pressure?

M M
(A) m—NaCl (B) 10 Ur.ea

- (© %Baa2 D) ,%Glucose-
{ Frafefed fawami & ¥ fhgeT TER 9 SEaH
3 g ?

(&) pNaCla  (B) %’I—Urea_ 1

% i
10

atomic size decreases due to -
(A) shielding effect
(B) photoelectric effect

1 (C) increase in nuclear force of attraction

. (D) decrease in nuclear force of attraction
| e ¥ AT § a9 U I SR & He
& HRT & — ] _
(A) ufezgmr gara
(B) wemisT-ferege A
(C) e Srepyer o ® Stfrehdr
(D) Yy ey s § HHI

098 ] 4=

™

(©) ~~BaCl, &1 (D) —II%Glucose |

79 Moving from left to right across-a period, |-

Page 13 of 16

80 The order of decreasing ionisation enthalpy
in alkali metals is -
) st et & o TR @ T o
g wE -
(A) Na>Li>K>Rb
L7’;(13) Rb > Na > Li > K
i (C) Li>K>Na>Rb
C\](D) Li > Na> K > Rb

(=
84| For the- reaction H,+I, =2HI, the
v equilibrium constant K is - 4
H, +1, =2 HI sfufpar & fog ama fadis
K#- : '

:_1; [Hz 2-[12] VEHZ]\/[IT] :
= 5] [’
o [—[H]+[11] e
2 .

82— The resonance involving c—electron is
called -
(A) conjugation
m(B) hyperconjugation
M) cross conjugation
— (D) extended conjugation
;’; G — 3o Gied B A1 TR € —

) !
oy ®) T

oy @) foreaia wgra

83—‘ Chlorination of alkanes is an example of-

(A) Rearrangement reaction
(B) Elimination reaction
(C) Free radical reaction
(D) Addition reaction

' o a1 FAAHTT T E —

K (A) qerfme st @

o (B) T e

o (C) 9 Hue HAHlhaT &l

o @) T 6T BT
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84 Amongst the elements of group 14. the
oxidising power of the tetravalent species
increases in the order -

Tt 14 & Tt § § Tg-HAS WS Bl Aiso
ST DT ol B & —

(A) Ge <Pb < Sn

(B) Ge <Sn>Pb

(C) Pb < Ge < Sn

(D) Ge<Sn<Pb

85 Which of the following species has highest
electron affinity?
frfaiea % & 5 Sisie & 909 soeH

TYaT ¥ 7
a) F ®) 0
© O (D) Na*

86 In gaseous equilibrium the correct relation
between k_ and k, is -
ﬂ?ﬂum%ﬁqucaﬁ?kp%ﬁaﬁaﬁ
e & -

(A) k, =kp(RT)A”
®) k,=k, (RT)™

An
©) k, = RT(kp)
An

D) k,=RT(k,)
87 Which of the following is a buffer?

(A) HCI and NaCl

(B) NaOH and NaNO,

(C) KOH and KCI

(D) NH,OH and NH,CI

frrfafad & § & @ 9%t &2

(A) HCI &% NaCl

(B) NaOH &t NaNO,

(C) KOH &t KCI

(D) NH,OH &t NH,CI

098 ] 9F

88

89

90

91
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In B,Hg

(A) there is a direct boron- -boron bond

(B) B-H bonds are jonic

(C) the structure is similar to that of CyHg

(D) the boron atoms are linked through
hydrogen bridges

B,Hg ¥

(A) TH TN IRE-SKE AT §

(B) B-H smey ama ¥

(C) T ¥ CoHg & &9 §

(D) IR A TR UG & & I3 @

Which type of defect has the presence of
cations in the interstitial sites?

(A) Frenkel defect

(B) Metal deficiency defect

(C) Schottky defect

(D) Vacancy defect

6 T $ AW F AT W § eEE B
IURART Bt § 7

(A) %Ha W

(B) =g = <

(C) siieat 9

(D) Tifeer qw

Which of the following does not show :

positive deviation from Raoult's law?

(A) Benzene - Chloroform

(B) Benzene - Acetone

(C) Benzene - Ethanol

(D) Benzene - Carbon tetrachloride
Frefifad & & @9 a1 e few ¥ gares
foaem =@l femman &7

(A) a1 — FrdwH

(B) a=iH — wdrRH

(C) &1 — ugMra

(D) a=iF — FE 2z

Which of the following is not an
electromagnetic wave?

(A) X-rays (B) pB-rays
(C)  y-rays (D) Radio waves
= & § o & Agd gasra T T8 ¥ 7
(A) X-aai (B) PB-ati
© v (D) e Tt
[ Contd...

92

93

94

95

098 ] 4-

lodine is essential for the production of
hormone of which of the glands?

(A) Adrenal gland

(B) Pineal gland

(C) Thyroid gland

(D) Parathyroid gland

frw Tifer % am E SR % g Grm\'e"ﬁ
Saya® & ?

(A) ulie afa

B) fufmw afa

(C) arstigs af

(D) ITErETEs gt

Which of the following gases is primarily
responsible for Greenhouse effect‘7

(A) Ozone

(B) Nitrogen

(C) Carbon dioxide

(D) Carbon monoxide:

Prefifad ¥ § &9 @ W g& &1 13 Arered
T % Y STREE @ ?

(A) s ‘

(B) T

(C) FHT SRS

(D) @A AHEES

Keoladeo National Park located in Rajasthan
is the wintering grounds for -

(A) Tigers (B) Antelopes

(C) Crocodiles (D) Birds

TR e dawRd TS 9 fhd W &
fow sferie omar &= & ?

(A) s (B) uRwH

(C): TIHD (D) ush

Which one of the following Blood groups is
known as the Universal Donor?

fo %} Row T WE @ gRTER (FreitD)
v % AW Y AN AT 2

(A) O ‘(B) A

(C) AB @®) B

96

97

98

199

100
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Name the chemical used to make tooth paste
white.

T e 2 B e i 1 i 2 e s B e
(A) TiO, (B) NaCl

(C) NO, (D) KCI

Dead organs are generally preserved in -
formalin. Formalin is -

(A) aqueous formaldehyde

(B) aqueous formic acid

(C) aqueous ferric alum

(D) aqueous ferrous sulphate

T ST BT G A BT 3 (b1 ST
¥ e & —

(A) i BHAEEES

(B) S Wi o7

(C) v %t Tad

(D) S % TS

Onion bulb is a modified -

(A) Root (B) Leaf

(C) Stem (D) Fruit
G B Da, T BT l
@A) T ®) i

() @ (D) wa

Mirage is formed due to -
(A) Reflection of light

(B) Dispersion of light |
(C) Total internal reflection of light
(D) Diffraction of light

UG T BT BT & —

(A) WebIaT H UTEAH

(B) WebIst T fa@mer

(C) WaIeT & P STiftes SRec

(D) WIS &1 e

Unit of electric current is -

(A) Ampere - (B) Ohm
(©) Volt (D) Watt
fome o At wE ¥ -
(A) THET (B) &
(©) a= (D) are.
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